
𝑭𝒊𝒏𝒅 𝒕𝒉𝒆 𝑨𝒓𝒆𝒂 𝒊𝒏 𝒄𝒎𝟐

3𝑚

2𝑚

𝐴 = 𝑙 × 𝑤
𝐴 = 3 × 2
𝐴 = 6𝑚ଶ

𝐴 = 𝑙 × 𝑤
𝐴 = 300 × 200

𝐴 = 60000𝑐𝑚ଶ
6𝑚ଶ ×

100𝑐𝑚

1𝑚
⎯⎯⎯⎯⎯⎯×

100𝑐𝑚

1𝑚
⎯⎯⎯⎯⎯⎯ =    60000𝑐𝑚ଶ

3𝑚 ×
100𝑐𝑚

1𝑚
⎯⎯⎯⎯⎯⎯ = 300𝑐𝑚

2𝑚 ×
100𝑐𝑚

1𝑚
⎯⎯⎯⎯⎯⎯ = 200𝑐𝑚

300𝑐𝑚

200𝑐𝑚

OR

Cube

10𝑚

How many litres of water can fit in this cube?

1000𝑚ଷ ×
100𝑐𝑚

1𝑚
⎯⎯⎯⎯⎯⎯ ×

100𝑐𝑚

1𝑚
⎯⎯⎯⎯⎯⎯ ×

100𝑐𝑚

1𝑚
⎯⎯⎯⎯⎯⎯ = 1000000000𝑐𝑚ଷ

𝑉 = 𝑙 × 𝑤 × ℎ
𝑉 = 10𝑚 × 10𝑚 × 10𝑚
𝑉 = 1000𝑚ଷ

1000000000𝑐𝑚ଷ ×
1𝑚𝐿

𝑐𝑚ଷ
⎯⎯⎯⎯ = 1000000000𝑚𝐿

1000000000𝑚𝐿 ×
1𝐿

1000𝑚𝐿
⎯⎯⎯⎯⎯⎯⎯⎯= 1000000𝐿

10𝑚 ×
100𝑐𝑚

𝑚
⎯⎯⎯⎯⎯⎯ = 1000𝑐𝑚

OR

Cube

1000𝑐𝑚

𝑉 = 𝑙 × 𝑤 × ℎ
𝑉 = 1000𝑐𝑚 × 1000𝑐𝑚 × 1000𝑐𝑚
𝑉 = 1000000000𝑐𝑚ଷ
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